EARAROBREBRT —5 XN—ZXBISH—F

202410888 (k) 8EIEERI3H

m B2=# >R \(fﬁ} B ‘I%EH?’JFQ] - | & te0m =
[x&%] 17&:550,000 3  23#&:193,000 ™  33#&:110,000 W  43%&:72,000 ./ 5 3&:39,000 9
B % B FrE R/ I HE %F (T8 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
" o= LLIAEAS: : - - S AHE (G
1 | PIEER GRS 3| AR 1.(3_9).4 21 [38.2 1 (5_3(1); %ﬁgAﬂJ GKiR)
RiFISU—vavETor— BIRISAFHD FTHI/TP—L
R . 5 | BRRE 1:40.2 33 38.8| - 5 | 480 |#EE— (KR
2KY 3 | XPEU=T E 54.0 (5) (6) | BEIES
R:FIYUISvT B:O4PILYU— (B) H8I1-—RL—YavEEIT 7
s < IS : - - MPE— (KR
NV AVAREEE PV "6 B (11410/:3 5-4 38.3 6 (5+541) uﬁ% KR
RiVYRUITURIR 8:FUT5hIS5T [EEse
o <~ 7 | WAEES 1:40.4 1-2 39.4| - 2 | 470 |A\EHESIE (BERE)
4BY 2 | E—RDUNILT T & 54.0 N\F) o) | EOIIRA
R:FVIvH/FtE+ BNITTYRTA FRERS
S BIAIRTE : - - EES— (KR
505 5| K—U—/\TL Rt "G A S e
R:XITT«4 B:F«UTPVN=TI FHRE%S
_ 5 | EAMS 1:42.8 6-6 9.4 — | 7 | 465 |fE&AREBEI (KiR)
611111437 e 5.0 ) ) |NRE
RIYN—T BKRIARFI b AR TT 7 —L
< 4 | ELREE 1:43.0 8-8 8.7 — 8 486 | AR KR
Y « R PL " R0 a 174 S TUESYS w
(-2)
RIE-UR BIRARTIT1—7T S K5
= FEISZ I 2 - - EEEt— (BX)
glg|g | MRS—L—/ 4 ! M e ’ ?f;) AHRET
RiRyI—FIRIT B:IARSYYTF HEIRIS
@ 11— —&@BIEf:I
13—7F—
20—F—
30—+— 2,4,(3,8),7,1,5,6
40—7— 4,2,3,7,8,1,5,6
@ Ih\R=E
B B 4 MO | | DA K 3-4 180H F5 & 3-4 4504 3EE 3-4-7 990/
B B 4 120 4-7 240M =] 4-3 640/ 38 4-3-7 2,280
3 180F4 3-7 630M
7 2909

ABIC OV TRUTEREERRODDZE. THRIIZEL.




